2

]

OUUUNGUVAN -

Eidl]

NR=ZATUAVS

K

Or—54>7
TIUXUS

ROHSH It

SWING CLAMPS <TYPE S>

RAVT TS FSEY

paihis

No.E-317

N

A VT NR S45C BEA HRC30 | 22w
[ [ RitrE
g nUEy I3V 7F ISVF EAERET RV —(EREE —
#—9—No.|  No. E)  EE ANO—7 mRREONT BABRD KN BABEOND BABRAKN oo 8| 8
50195 SS-16  |M 4x0.7 16 0 - 4 25 2 2 2 0.03 | 4,470
50196 SS-18  |M 6x1.0 18 0 - 5 35 6 35 55  0.05| 5,000
30152 $$-20 |M 8x1.25 20 0 - 7 26 11 11 6 007 | 3,680
14823 $$-35  |M12x1.75 36 35125 54 18 51 15 0.20 | 5,250
46614 SS-50A | M12x1.75 50 4 -13 40 15 54 15 024 | 6,300
14822 SS-50 | M16%2 50 4 -13 96 31 59 15 0.38 | 7.100
46615 $5-60 M16X2 60 35125 117 26 78 15 0.43 | 7,100
WA
A
T D
T
mEm (7 -
NS
M
= NY
i 5
L
n A
INY
B B
* o
No. A B cC : D E [F G W 0 J i K (Gz8) L MGIEE)
$5-16 16 7 23 R6. 7 16 7 10 3 0 113887 0 M 4x0.7 - -
$5-18 18 9 28 R8 10 18 8 14 5 18%88% @ M 6x1.0 - -
$5-20 20 12 35 R10 12 23 7 16 6 18380 . M 8x1.25 - -
$5-35 3 : 18 57 R14: 19 38 15 = 25 . 10 @ 253% « MI12x1.75 = 75 : M8x1.25
SS-50A | 50 0 18 57 R14 . 19 38 15 25 10 . 2780s . MI2x1.75 75 = M8x1.25
$S-50 50 20 0 70 R18 27 43 15 . 30 14 31380 . MI6X2 75 M8x1.25
$5-60 60 20 0 70 R18 27 43 15 30 14 31805 . MI6X2 75 M8x1.25
WERSEERL WEYTII &
=R No. |a'8%:p™8e: c@B) :dmin)
@ | VryhzIUa— SS-16 | 10 16,5 M 4x0.7 = 24
@ | 2o vT~wR SS-18 | 14 195 M 6x1.0 @ 32
BIESIZ] $$-20 | 16 235 M 8x1.25 42
SS-35 | 25 345 M12x1.75 63
SS-50A| 25 34.5 M12x1.75 63
5 SS-50 | 30 40.5 M16x2 78
S5-60 | 30 40.5 M16X2 78

http://www.nabeya.co.jp



	F214J_0114

